BZEZRE

AR L= P EH AR | =
(7 FERAET

1.1%)
AL P ? ) FEME A ) PR+ Y ﬁ'{%ﬁ?\:@f‘ i ,’j,\vﬁ g A 4, 900 4, 954

E i i A S
Iy EFUEX |[1iFp > & po8
DIRAREIE R | 31 (9T E
e o ARG RTE PRAE
BT = = 4
AR o AR R

5];&;—& ;)




ERZEREEAER(S0C) ik

KRN R4 R RP = M EH e ZHR
5 % | (7 TERBT
1.1%)
2 | FHEY |HAWPPAF > |EITERBIIE BT LRGF AT | 1,720 1,739
P 0P ;%KJ’ "w- | 2 E (365 = —FHEE 2R WRE
FRO|2EFEFAEL | x24 ) RIHE | (SO0 PRI KRR
(SOC) PR | 2 PRAX&IEHPE | A 2 85 360 % » =
> R o P L 24 ) PR o
BIFLZRNTE P | 2,660 2,690
R ﬁ Jfg
72 (SOC) PRF%—*¥ i &
I FE LG A2 | 3,600 3, 640
—FUEE R P ORI
72 (SOC)PRA%-% i &




SR T A

’EL.K;V r%’;__ ‘p

F
%> eFuUx

D PRFE 578 R PE
i’ﬁ.‘% ]°

TAXFE LT
po®pr8ip
1 (e pERt (0
AR LEIIR
AR T = =
14%@: P
%4%)

k1 P e £ 1%
5 (3 FERAEF 1.1%)
3 BRRP RN E o xR IE PRARAT 4, 954




BB R

kiR KL -4 BMP # A1 ZH%
(3 PEmag 1.1%)
4 %5 PIRRIRFE | H F | EBEFXRGFG AL 5,200 5, 258




R TR SRR

5 AR I ARIT RURTE BT XL G AP 4,900 4,954




